
LGMF1691





1
2

2
.4

4
"(3

1
1

0
m

m
)

1
2

2
.4

4
"(3

1
1

0
m

m
)

1
2

2
.4

4
"(3

1
1

0
m

m
)

1
2

2
.4

4
"(3

1
1

0
m

m
)

3
.1

5
"(8

0
m

m
)

3
.1

5
"(8

0
m

m
)

3
.4

6
"(8

8
m

m
)

3
.4

6
"(8

8
m

m
)

3
.4

6
"(8

8
m

m
)

4
.9

2
"(1

2
5

m
m

)

4.92"
(125mm)

3.46"(88mm)

3.46"
(88mm)

153.58"(3901mm)

153.58"(3901mm)



2
5

9
.6

9
"(6

5
9

6
m

m
)

1
4

9
.8

8
"(3

8
0

7
m

m
)

1
6

5
.2

0
"(4

1
9

6
m

m
)

5
5

.3
9

"(1
4

0
7

m
m

)

2
5

1
.9

7
"(6

4
0

0
m

m
)

1
5

7
.4

8
"(4

0
0

0
m

m
)

2
5

9
.6

9
"(6

5
9

6
m

m
)

165.20"(4196mm)

126.38"(3210mm)







C1  x2

E  x6
C2  x2

C3  x2

F  x4

B  x2

C4  x2

C5  x2

D  x4

D1  x4

D2  x2

D3  x2

E3  x2

E1  x1

E2  x1

A  x4

C6  x2

E0  x2

Pole

Pole

Beam

Beam

Beam

Beam

Beam

Beam

Sidewall Track

Sidewall Track

Sidewall Track

Sidewall Track

Union Bar

Union Bar

Outside Roof 

Cover Connector

Solidifying Bar

Outside Roof Cover 

Corner Roof Cover



N1  x4

G  x8

I1  x4

I2  x4

J2  x2

K  x4

M1  x4

N  x2

K3  x2

H     x1

J1  x1

J   x2

J3  x4

M  x4

K2  x8

K1  x4

K4  x2

Joint Cover

Silicone Sealant

Corner Solidifying Bar

Corner Solidifying Bar

Inside Roof 

Inside Roof 

Inside Roof 

Cover Connector

Solidifying Bar

Base

Base Cover

Bracket

Base

Base Cover

Base Corner Roof 

Tube Connector

Corner Roof Tube

Middle Roof Tube

Middle Roof Tube



P  x2

Q  x8

S  x184

T1  x2

U3  x4

U4  x8

N2  x2

L1   x2

Q1  x6

T  x2

L2   x2

L3   x4

T2  x2

T3  x4

U1  x4

U2  x4

U5  x4

Middle Roof Tube

Finishing Bar

Finishing Bar

Finishing Bar

Finishing Bar

Finishing End

Finishing End

Black Rubber

Finishing Bar

Finishing Bar

Finishing Bar

Finishing Bar

Solidifying Bar

Solidifying Bar

Bracket

Bracket

Solidifying Bar



O  x1

  x1

  x1

  x1

R1  x3

O4 x2

O5 x2

O7 x3

O6 x2

O1  x2

O2  x2

O3  x4

Small Mesh

Plastic Bar

Plastic Bar

Plastic Bar

Middle Support 

Tube Connector

Bracket

Middle Support Tube

Solidifying Bar

Hooks

Allen Key

Wrench

Wrench



2#

x36

ST4.8

M6x20

M6x25

M6x12

3#

x16

5#

x112

6#

x12

7#

x56

8#

x8

9#

x32

10#

x4

11#

x48

4#

x168

Z  x80

Z1  x12

Z2  x12

ST6.3*15

12#

x20

1#

x325M6x16

Plastic Clips

Plastic Clips

Plastic Clips

M6x50

M5x16

x13

M6x28

M6x45

Plastic Hooks



Yb  x6

Y  x4 Y1  x2 Ya  x4 Y1a  x2

X1 x2

X14 x2X13 x2

W3 x2W2 x2W1 x2 W5 x2 W6 x2 W7 x2 W8 x2W4 x2

Mosquito Netting Mosquito Netting

Velcro 

Straps

Curtains Curtains

210mm 210mm

712mm 712mm 712mm 712mm 712mm

405mm 405mm

V1 x2 V2 x2 V3 x2 V4 x2 V5 x2 V6 x2 V x8 V7 x2 V8 x2

565mm

1135mm

1670mm1670mm1670mm1670mm

1135mm

565mm

1670mm 1670mm 1670mm 1670mm

1330mm

190mm

760mm

X2 x2 X3 x2 X4 x2 X5 x2 X6 x2 X7 x2

1670mm 1670mm 1670mm 1670mm

1330mm

190mm

760mm

X12 x2X11 x2X10 x2X9 x2X8 x2



x4

Repeat the above procedures to assemble the 

other 3 Corner Poles.



Repeat the above procedures to 

assemble the other 3 Corner Poles.



x8

x2

Repeat the above procedures to assemble 

another Pole #B.



x4

PLASTIC HOOKS ASSEMBLY:



D2  x2

D3  x2

4#

x40

4# x5

4# x5

4# x5

4# x5

3.Slide the Plastic Hooks to the double rail track #D2（Each slot 

should slide 5 hooks）.

Repeat the above procedure for the other tracks #D2.

4.Slide the Plastic Hooks to the double rail track #D3（Each slot 

should slide 5 hooks）.

Repeat the above procedure for the other tracks #D3.

5



BEAM ASSEMBLY: 



C6 C2

③

#C5,#C6 and #C2.













Use 5mm silicone sealant (part #H) and Joint Cover 

#G to affix the gap.





J   x2 J1  x1J2  x2
11#

x8

J J2 J1

J

J

J2

J2

J1

J

J1

J

11 # 11 #

 BOTTOM VIEW 

J2

 TOP VIEW 

15



J3  x4
1#

x24

J J2 J1

J

J

J2

J2

J1

J

J1

J

J3

J3

J3

J3

J3

J3

1 #

1 #1 #

1 # 1 #

1 # J3

J3

Attach Part #J3  to the assembled 

Inside Roof using 24 Bolts 1#.

 BOTTOM VIEW 

 TOP VIEW 

1#

1#

1#

1#

16



Connect Part #M1 and Part #M with 2 Bolts 2# 

to form whole Corner Roof Tubes #Ma.

Ma



N1 x4

N  x2

N2 x2

1#

x36

Ma  x4

ROOF TUBES AND INSIDE ROOF COVER ASSEMBLY:

18

 BOTTOM VIEW 



19



E3

E3

E1

E3

E3

E2

E3

E3

E1

 BOTTOM VIEW 

 TOP VIEW 

20

x1



O1  x2

O2  x2

O3  x4O  x1

225mm

O1
O1

O

O3

O3

O

O2

O2

O3

O3

Insert

Insert

Please pay attention to the installation 

position of the O3 and do not install it backwards.

21

225mm

300mm

300mm

300mm

300mm

225mm

225mm



1#

x5

1# 1# 1# 1# 1#

O

OUTSIDE ROOF COVER 

AND MESH ASSEMBLY：

（1）Place the Outside Roof Cover on the Inside Roof Cover.

（2）Align the holes and use 5 Bolts 1# to secure Small Mesh #O to the 

  Inside Roof Cover (From Bottom to Top).

22



1#

x4

11#

x24Q  x4

12#

1 2

1#

11#

11#

3

11#

Q

P  x2

L1   x2

L2   x2

L3   x4

L1& L2& L3 on the middle roof tube.

/L3

 TOP VIEW 

L1

12#

x8

L3 L3 L2

L2 L3 L3 L1

P P

3 3 3 3 3 3 3 3

3 3 3 3 3 3 3 3

2

2

2

2

11

1 1 1

1 1 1

L2
L3

L1

L2
L3

L1

P

P

23



11#

x16

12#

x8

2 2 2 2 2 2 2 2

2 2 2 2 2 2 2 2

11

1 1 1

1 1 1

/L3
/L3

roof tube

Extend the small mesh, then secure the plastic bar (inside the small mesh)

and the finishing bar to the roof tube.

in the mesh

24

 BOTTOM VIEW 



3

3

3

3

3

25

 BOTTOM VIEW 



1#

x6
O7 x3 R1 x3

R1

O7

O7 O7

O7

O7

O7

O7

O7

O7

1.Attach 3 Parts #O7 to the frame and secure them with 6 Bolts 1#.

2.Screw Hooks #R1 onto the Bar Part #O7.

①

①

①

①

②

②

②

②

26



150mm 150mm 154mm154mm

U 5 U5
U 4

Note: lf U5 does not fit properly, the ends of the solidifying bar may be installed in reverse.

Insert the Bracket U4 into 2 Part U5 and secure them with 2 Bolts 1#, then attach them to

assembled Middle Roof Tube with 1 Bolts 1#.

Repeat the above procedure to assemble the other 7 positions.

U5 x4

1#

x24
U4  x8U1 x4

U2 x4

 TOP VIEW 

 INSIDE VIEW 

①
②

①

①

①
②

②

②

②

②

②

U1

U1 U1

U1

U2 U2U5 U 5

U2U2 U5 U 5

U1

U1 U2

U2

U 5

U5

27



1#

x12
U3  x4

 TOP VIEW 

① ②

①

①

①②

②

②

②

②

U1

U1 U1

U1

U2 U2U5 U 5

U2U2 U5 U 5

 INSIDE VIEW 

①

Insert the Bracket U3 into Part U1 and U2, and secure them with 2 

Bolts 1#, then attach them to assembled corner roof tube with 1 Bolts 1#.

Repeat the above procedure to assemble the other 3 corners.

U1

U1 U2

U2

U 5

U5

28



V4  x2V3  x2V2  x2V1  x2 V6  x2V5  x2 V8  x2V7  x2V  x8

Z

Z

Z2

Z2

Z

Z

Z1

Z1

V2V1 V3 V4

Z

Z2

V5 V6 V

Z

Z1

Z2

Z

Z

Z1

V V7 V8

the roof panels.

Please install Plastic Clips in strict accordance with the instructions.

Attach Part #Z,#Z1,#Z2 by lightly tapping with screwdriver.

Z1  x8

Z2  x8

Z  x16

29



V1

V2

V3

V4

V5 V6 V V V V V7 V8

T

T

T1

T1

T2

T2 T3

T3T3

T3

SMALL ROOF ASSEMBLY:

T1 x2

T  x2

T3 x4 T2 x2

30



12#

x12Q1 x6

Q  x4

V1 V4V3V2 V6V5 V7 V8V VVV

T

12#

Q/1 2# T1
Q1 /12#

T2
Q1 /12#Q1 /12#

T3 T3

31



Attach Part #Z,Z1,Z2 by lightly tapping with screwdriver.

32

Z2

Z

Z

Z1

Z

Z

Z

Z

Z

Z

Z

Z

Z

Z

Z

Z

Z

Z



Z

Z

X1 X2 X3

X4 X5

X6 X7 X8 X9

X10 X11

X12 X13 X14

Z

Z

Z

Z

Z

Z

Z

Z

Z1

Z

Z

Z

Z

Z

Z

Z2

Please install Clips #Z, Z1, Z2 in strict accordance with the instructions.

Z1  x2

Z2  x2

X1 x2 X14 x2X13 x2

Z   x32

X2 x2 X3 x2 X4 x2 X5 x2 X6 x2 X7 x2 X8 x2 X9 x2 X12 x2X11 x2X10 x2

33



X1 4

X1 3

X1 2

X11

X1 0

X9

X8

X7

X6

X5

X4

X3

X2

X1

W1

W8

W2 W3 W4 W5 W6 W7

W1W2W3W4W5W6W7W8

X1 4

X1 3

X1 2

X11

X1 0

X9

X8

X7

X6

X5

X4

X3

X2

X1

o

34

The Black Rubber #S Should be assembled when

installing the roof panels, please see the next page.



①

①

②②

②

②

③

③

③ ③
②②

④

④

④ ④

①

②

②

③ ③
②②

④ ④

① ②②

③

③

④

④

5x

5x

5x

5x

11x

11x

11x

11x9x 9x

9x 9x

17x 17x

17x 17x

6#

x12

10#

x4
S x184

5#

x112

7#

x56

① ②

③

1 0#

S

6#

6#

S

7#

7#

S

35



36



37

S x12
x12



S x56

38

③
③ x10 ③ x18

x56



④

Beam

39

④ x22
④ x17

④ x17

S x112
x112



4#

Y/Y1Ya/Y1a

Ya YaY YY1 Y1a

Y1a

Y1a

Y

Y

Y

Y

Y1

Ya

Y1

Ya Ya

Ya

8 Hooks

*2 Tracks

40

Outside Track Inside Track

8 Hooks

*2 Tracks

8 Hooks

*2 Tracks

8 Hooks

*2 Tracks

8 Hooks

*2 Tracks
8 Hooks

*2 Tracks

8 Hooks

*2 Tracks

8 Hooks

*2 Tracks

5 Hooks

*2 Tracks

5 Hooks

*2 Tracks

5 Hooks

*2 Tracks

5 Hooks

*2 Tracks



Y

Ya

Ya

Y

Ya

Y

Ya

Yb

41




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54

